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Rvision Unit Four and Five  – Grade 12 general /2024-2025 …. Moh’D Alzzen 

Q(1) :  Find the exact value of each  trigonometric functions of  :  

𝟏)  𝒔𝒊𝒏𝜽 =                                     𝟐) 𝒄𝒐𝒔𝜽 = 

𝟑)  𝒕𝒂𝒏𝜽 =                                     𝟒) 𝒄𝒐𝒕𝜽 = 

𝟓)  𝒔𝒆𝒄𝜽 =                                     𝟔) 𝒄𝒔𝒄𝜽 = 

 

Q(2): If     𝒔𝒊𝒏𝜽 =
𝟑

𝟒   
     ,  what is the value of csc θ ?  

 

Q(3): If     𝒕𝒂𝒏 𝜽 = √𝟑     ,  what is the value of  sin θ ?  

 

Q(4)  : Find the value of 𝒂 in the triangle shown , round the answer to the 

nearest hundredth  ? 

𝒂) 𝟑. 𝟗𝟓                𝒃) 𝟑. 𝟑𝟒             

𝒄) 𝟏. 𝟕𝟓                𝒅) 𝟔. 𝟒𝟏            

Q(5): Find the value of 𝜽 in the triangle shown , round the answer to the nearest 

degree ? 

𝒂)   𝟓𝟑°                     𝒃)   𝟒𝟕°               

𝒄)   𝟕𝟑°                    𝒅)   𝟑𝟕° 

 

Q(6): Saaed is standing 50 meters from the base of a tree . He sees the top of the tree at 

an angle of elevation of 18 ° . Determine the approximate height of the tree . 

 

 

 

𝒂) 𝟗. 𝟒 𝒎                𝒃) 𝟏𝟐. 𝟕 𝒎                       𝒄) 𝟏𝟔. 𝟐 𝒎                𝒅) 𝟏𝟓. 𝟖 𝒎             

X 

9 

𝟔𝟒° 𝒂 
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Q(7): Convert   150° to radian   =  

𝑎)   
5𝜋

3
                𝑏)   

5𝜋

6
                       𝑐)   

5𝜋

7
                     𝑑)   

3𝜋

4
 

Q(8): Convert   
5𝜋

4
   to degrees =  

𝑎)   125°                𝑏)   225°           𝑐)   105°                   𝑑)   150°  

Q(9) :Which angle are  coterminal to 𝟏𝟕𝟎°  ? 

𝑎) 220°                 𝑏) 530°            𝑐)  340°             𝑑)  420° 

Q(10) :Which angle are  coterminal to   
2𝜋

3
? 

  𝑎)   −
4𝜋

3
                𝑏)  

2𝜋

3
           𝑐)  

8𝜋

3
             𝑑)   𝒂 𝑎𝑛𝑑 𝒄 

Q(11): A circle has a radius  𝒓 =
𝟓𝟔

𝟏𝟑
   centimeters , what is the  

                arc length  (s)  for  𝜽 =
𝟏𝟑𝝅

𝟖
  ? 

𝑟دائرة  نصف قطرها    يساوي      • =
56

13
𝜽    ، ما هو طول قوسها الذي زاويته   =

𝟏𝟑𝝅

𝟖
 ؟   

𝑎)  𝑠 = 448𝜋 𝑐𝑚          𝑏)  𝑠 = 56𝜋 𝑐𝑚         𝑐)  𝑠 = 7𝜋 𝑐𝑚         𝑑)  𝑠 = 13𝜋 𝑐𝑚  

 

Q(12) : A water sprinkler covers the shaded area in the image . What is the 

approximate area of coverage , rounded to the nearest tenth of a meter ? 

ما هي مساحة التغطية التقريبية ،  ،يغطي رشاش الماء المنطقة المظللة في الصورة  •

 مقربة لأقرب جزء من عشرة من المتر؟ 

 𝑎)  11.2  𝑠𝑞𝑢𝑎𝑟𝑒 𝑚𝑒𝑡𝑒𝑟𝑠               𝑏)  22.3  𝑠𝑞𝑢𝑎𝑟𝑒 𝑚𝑒𝑡𝑒𝑟𝑠                    
  𝑐)  17.6 𝑠𝑞𝑢𝑎𝑟𝑒 𝑚𝑒𝑡𝑒𝑟𝑠                 𝑑)  34.8 𝑠𝑞𝑢𝑎𝑟𝑒 𝑚𝑒𝑡𝑒𝑟𝑠             
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Q(13) :  Let A(-3,– 4) be a point on the 

terminal side of angle θ in standard position. 

Find the exact values of the trigonometric 

functions. 

𝟏)  𝒔𝒊𝒏𝜽 =                                     𝟐) 𝒄𝒐𝒔𝜽 = 

𝟑)  𝒕𝒂𝒏𝜽 =                                     𝟒) 𝒄𝒐𝒕𝜽 = 

Q(14) : Find the exact values of  trigonometric functions  , If defined , If not 

defined , write undefined . اوجد القيمة الدقيقة لكل دالة مثلثية اذا كانت معروفة ، والا اكتب غير معروفة  

  ) sin(315 )a =                        𝑏)  𝑡𝑎𝑛( 𝜋) =               𝑐) cot (
11𝜋

6
) = 

 Q(15): : Find its reference angle  for each angle ? 

 لكل زاوية مما يلي ؟   الزاوية المرجعيةاوجد   •

−𝟏𝟐𝟎 ∘ 𝟏𝟏𝛑

𝟔
 

𝟑𝟏𝟓 ∘ 𝟐𝟐𝟓 ∘ 𝟏𝟏𝟓 ∘ Angle 

     

 

 

Reference 

angle 

                       

Q(16): Let    𝒔𝒊𝒏𝜽 = −
𝟒

𝟓
    , Where 𝜽 is in Quadrant III . A point on the 

terminal side of  𝜽    is :  

 

  a(  3 , 4 )           b )  ( −3 , −4)            c)   (3 , 5)            d)   (− 4  , −5) 

Q(17) :   Describe how the graph of  𝒇(𝒙) = 𝒔𝒊𝒏𝒙  and  𝒈(𝒙) = 𝟑𝒔𝒊𝒏𝒙  are related. 

a) The graph of g(x) is expanded vertically from the graph of f(x) 

b) . The graph of g(x)is expanded horizontally from the graph of f(x). 

c) The graph of g(x) is compressed vertically from the graph of f(x). 

d) The graph of g(x) is compressed horizontally from the graph of f(x). 
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Q(18):  Find  for each  trigonometric  functions Amplitude, period , Frequency , Phase shift 

, Midline , Expanded or Compressed vertically  and Expanded or Compressed Horizontally. 

الدورة ، التكرار، ازاحة   في كلٍ من الدوال المثلثية التالية اوجد ؛ )السعة ، التمدد  او الانكماش الراسي ،   •

 الطور ، التحول الراسي ، الخط المتوسط  ، القيمة العظمى و الصغرى (. 

𝒂) 𝒇(𝒙) = −𝟓 𝒔𝒊𝒏( 𝟐𝒙 − 𝝅) + 𝟑      

Amplitude period Frequency Phase shift vertical shift   Midline Domain  Range  
   

 
 
 

     

 

𝒃) 𝒇(𝒙) = 𝟐 𝒔𝒊𝒏( 𝒙 −
𝛑

𝟐
) − 𝟒          

Amplitude period Frequency Phase shift vertical shift   Midline Domain  Range  
   

 
 
 

     

 

 

 

Q(19):  Determine the amplitude of 

the function. 

a)   2         b)   3     c) 4        d) 6  

 

  

Q(20): Determine the  function f(x)  represented the graph shown 

below :   

𝑎)   𝑓(𝑥) = 3𝑐𝑜𝑠 𝑥        𝑏)   𝑓(𝑥) = 3 𝑠𝑖𝑛 𝑥 

𝑐)   𝑓(𝑥) = −3𝑐𝑜𝑠 𝑥     𝑑)   𝑓(𝑥) = −3 𝑠𝑖𝑛 𝑥 
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Q(21):   Which graph represent the function    𝒚 = 𝟑𝒄𝒐𝒔𝒙 − 𝟒.  

 

 

 

 

 

 

 

 

 

 

Q(22) : Find the exact value of 𝒄𝒐𝒔−𝟏(
√𝟑

𝟐
) 

a) 
𝝅

𝟐
          b)   

𝝅

𝟑
           𝒄)     

𝝅

𝟒
             𝒅)     

𝝅

𝟔
          

Q(23): Find the exact value of 𝒕𝒂𝒏−𝟏(𝟏) 

𝒂)   
𝝅

𝟐
          b)   𝝅           𝒄)     

𝝅

𝟒
             𝒅)    − 𝝅       

Q(24): Find the exact value of 𝒂𝒓𝒄𝒔𝒊𝒏(
√𝟐

𝟐
) 

𝒂) 
𝝅

𝟐
          b)   

𝝅

𝟑
           𝒄)     

𝝅

𝟒
             𝒅)    

𝝅

𝟔
     

Q(25) : Find the exact value of 𝒕𝒂𝒏−𝟏(𝒕𝒂𝒏(
𝝅

𝟑
)) 

𝒂) 
𝝅

𝟑
          b)   −

𝝅

𝟑
           𝒄)     −

𝝅

𝟒
             𝒅)   −

𝝅

𝟔
          

Q(26) : Find the exact value of 𝐬𝐢𝐧 (𝒂𝒓𝒄𝒕𝒂𝒏(
𝟓

𝟏𝟐
)) 

𝒂) 
𝟏

𝟏𝟐
          b)   

𝟏𝟓

𝟏𝟐
           𝒄)    

𝟏𝟐

𝟏𝟑
             𝒅)   

𝟓

𝟏𝟑
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Q(27)  : The domain of the function  𝑦 = 𝐬𝐢𝐧 (𝒔𝒊𝒏−𝟏(𝒙)) 

𝒂) (−∞ , ∞)      b)   [−𝟏 , 𝟏]      𝒄)    [𝟎 , 𝝅]        𝒅)   [−
𝝅

𝟐
,

𝝅

𝟐
]     

Q(28) : The Range of the function  𝑦 = 𝒕𝒂𝒏−𝟏(𝒔𝒊𝒏(𝒙)) 

𝒂) (−∞ , ∞)      b)   [−𝟏 , 𝟏]      𝒄)    [𝟎 , 𝝅]        𝒅)   [−
𝝅

𝟐
,

𝝅

𝟐
]  

Q(29) : The Domain of the function  𝑦 = 𝒔𝒊𝒏−𝟏(𝟐𝒙) 

𝒂) (−∞ , ∞)      b)   [−𝟏 , 𝟏]      𝒄)    [𝟎 , 𝝅]        𝒅)   [−
𝟏

𝟐
,

𝟏

𝟐
]  

Q(30) : The domain of the function  𝑦 = 𝒄𝒐𝒔−𝟏(
𝒙

𝟒
) 

𝒂) [−𝟒 , 𝟒]      b)   [−𝟏 , 𝟏]      𝒄)    [−𝟖 , 𝟖]        𝒅)   [−
𝟏

𝟒
,

𝟏

𝟒
]  

 

 

 

 

Q(31) : Determine the period ) الدورة) of each function. 
Function b Period 

𝒚 = 𝒔𝒊𝒏( 𝟐𝒙 − 𝝅)   

𝒚 = 𝟑𝒄𝒐𝒔( 𝟑𝒙 + 𝝅)   

𝒚 = 𝟐𝒕𝒂𝒏 𝟐𝒙   

𝒚 = 𝒄𝒐𝒕 𝟑𝒙   

𝒚 = 𝒔𝒆𝒄(𝟐𝒙 −
𝝅

𝟐
)   

𝒚 = 𝒄𝒔𝒄
𝒙

𝟐
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Q(32) :Locate the two consecutive vertical asymptotes.  

 حدد خطي تقارب  راسيين متتاليين  لكل مما يلي من الدوال المثلثية :  •

𝑰)  𝒚 = 𝒕𝒂𝒏(𝒙 −
𝟑𝝅

𝟐
 )                                          

 

 

𝑰𝑰) 𝒚 = 𝑪𝒐𝒕( 𝒙 −
𝝅

𝟒
)  

 

 

𝑰𝑰𝑰) 𝒚 = 𝒅)  𝒄𝒔𝒄( 𝒙 +
𝝅

𝟐
) 

 

 

 

Q(33) :Identify the damping factor f(x) of  function   .𝒚 = 𝟐𝒙 𝒄𝒐𝒔 𝟑 𝒙 

𝒚  .لة للدا f(x)حدد عامل التضاؤل  = 𝟐𝒙 𝒄𝒐𝒔 𝟑 𝒙 . 

𝒂) 𝒇(𝒙) = 𝟑𝒙      b)    𝒇(𝒙) = 𝒄𝒐𝒔 𝒙         𝒄) 𝒇(𝒙) = 𝟐𝒙         𝒅)   𝟔𝒙  

Q(34) : If  𝒄𝒔𝒄 𝜽 =
𝟕

𝟒
      , find 𝒔𝒊𝒏𝜽  ?     

𝒂)   𝒔𝒊𝒏𝜽 =
𝟕

𝟒
      𝒃)   𝒔𝒊𝒏𝜽 =

𝟒

𝟕
             𝒄)   𝒔𝒊𝒏𝜽 =

√𝟑𝟑

𝟕
           𝒅)   𝒔𝒊𝒏𝜽 =

√𝟑𝟑

𝟒
  

?             𝒄𝒐𝒕 𝜽, find    𝒔𝒊𝒏𝜽 = −
𝟒

𝟓
   and  𝒄𝒐𝒔𝜽 = −

𝟑

𝟓
 If :) 35Q( 

𝒂)  𝒄𝒐𝒕 𝜽 =
𝟒

𝟑
      𝒃)   𝒄𝒐𝒕 𝜽 = −

𝟒

𝟑
             𝒄)   𝒄𝒐𝒕 𝜽 =

𝟑

𝟒
           𝒅)  𝒄𝒐𝒕𝜽 = −

𝟑

𝟒
  

Q(36) : If  sin 𝜽 =
𝟏

√𝟐
   and  𝒄𝒐𝒔 𝜽 < 𝟎   , find  𝒄𝒐𝒔 𝜽  ?  

 

𝒂)  𝒄𝒐𝒔 𝜽 =
𝟏

√𝟐
         𝒃)   𝒄𝒐𝒔 𝜽 = −

𝟏

√𝟐
         𝒄)   𝒄𝒐𝒔 𝜽 = 𝟏           𝒅)   𝒄𝒐𝒔𝜽 = −𝟏  
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Q(36) : Simplify  expression.   بسط التعبير  التالي  

𝒔𝒊𝒏 (
𝝅

𝟐
− 𝒙) − 𝒔𝒊𝒏𝟐 𝒙 . 𝒄𝒐𝒔 𝒙 

𝒂)  𝒄𝒐𝒔𝟐 𝒙              𝒃)  𝒔𝒊𝒏𝟐 𝒙              𝒄)    𝒄𝒐𝒔𝟑 𝒙                𝒅)   𝒔𝒊𝒏𝟑 𝒙 

Q(37) : Simplify  expression.        بسط التعبير  التالي    

 𝒄𝒔𝒄 𝜽 𝒔𝒆𝒄 𝜽 − 𝒄𝒐𝒕 𝜽 

𝒂)  𝒄𝒐𝒔 𝜽               𝒃)   𝒔𝒊𝒏 𝜽               𝒄)    𝒕𝒂𝒏 𝜽               𝒅)   𝒄𝒐𝒕 𝜽  

Q(38) : Verify Identity          (𝒔𝒆𝒄𝟐 𝜽 − 𝟏) ∙ 𝒄𝒐𝒔𝟐𝜽 = ⋯ 

 

𝒂)  𝒄𝒐𝒔𝟐𝜽              𝒃)  𝒔𝒊𝒏𝟐𝜽                𝒄)    𝒕𝒂𝒏𝟐𝜽               𝒅)   𝒄𝒐𝒕𝟐𝜽 

 

Q(39) : Solve  equation for all values of x . 

      𝟐 𝒕𝒂𝒏 𝒙 − √𝟑 = 𝒕𝒂𝒏 𝒙 

𝒂)  
𝝅

𝟑
+ 𝟐𝒏𝝅   ,

𝟒𝝅

𝟑
+ 𝟐𝒏𝝅            𝒃)  

𝝅

𝟑
+ 𝒏𝝅   ,

𝟒𝝅

𝟑
+  𝒏𝝅                  

𝒄)  
𝝅

𝟔
+ 𝟐𝒏𝝅   ,

𝟒𝝅

𝟓
+ 𝟐𝒏𝝅            𝒃)  

𝝅

𝟔
+ 𝒏𝝅   ,

𝟒𝝅

𝟓
+  𝒏𝝅                  

𝟏𝟎)    𝟗 + 𝒔𝒊𝒏𝟐𝒙 = 𝟏𝟎  

 

Q(40) :Find all solutions  of each equation on [0 , 2𝜋].                     . 

 

𝒂) 
𝝅

𝟒
  ,

𝟑𝝅

𝟒
            𝒃) 

𝝅

𝟐
  ,

𝟑𝝅

𝟐
                    𝒄) 

𝝅

𝟔
  ,

𝝅

𝟑
                       𝒅) 

𝝅

𝟑
 ,

𝝅

𝟒
   

 

  


